Al A

=

A
=

Ol &b A

Al

ol

0
<J
R0

[l

o}
il
oll

Bl

20218 =

=
R®l
KO —~
R0 &J
<
.. ~
1of
X
I mo
ot

0
K4
R0
o
)

=

30
mm K
o2 3
ar uﬂ
B
< W
m0 = I
EARTN ]
R0 70
W &)

M & oF
< RO T

<

n0

Kio

Hl w

40,477,704

2,871,823

N 223,709

N 43,200

5,500
5,500
5,500

H3r
Wikd
RIS

451,322,824

18,446,859

6,914,536

641,200

200,000

200,000
200,000

17,000
17,000
17,000

58,500
24,500
24,500
34,000
34,000

0l &t o

491,800,528
310,421,546
48,603,000
8,320,340
124,455,642

21,318,682
14,229,330
7,089,352

6,690,827
2,344,380
4,346,447

100,000

598,000
498,000

100,000
100,000
200,000
100,000
100,000

200,000
200,000

200,000
100,000
100,000
17,000
17,000
17,000
17,000

64,000
30,000
30,000
30,000
34,000
34,000

10,000
3,000
18,000
3,000

I
0
<)
&0

[l

e

=]
®[
RO
R0
o]

8J

~
1of
H
70
)
X0
K
R0
]

Ju

30
0B

_

D
Edl
[

ol
20
R0
]
KJ
o
0

307 21201 A

30
OH

O

Edl
[

il
20
R0
ol
®)
i
0

=Y
[l

2|

LYNEPNE-

=

S

o g

307 glztol &

jc:>‘

I

Kl
Kt

0

[oF =]
=T

PN
&

b Xl &
=

=

X

201
01 AFR 22l
03 Al

R
KE
ok
3l

ol

®[
RO
R0

,_o.c

Kl
KF
ok
ol

U0
&l

K

0
]
ok

=
K

H
0
o)

KJ
Kt

"l

w0
<
R0

__oc

it

)

i

=

A46,700
A46,700
N46,700

363,700
363,700
363,700

317,000
317,000
317,000
317,000

307 21201 &




AR gAY SN YT
A AYSD MPAQYE NASATH(BALS/NY)
Sl NHHESFBHOIBAIL (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
MNASABHOI=EANE 3,406,280 3,955,900 A 549,620
= 858,380
& 2,547,900
MEHZRAX LA (HMEAIY) 1,300,000 1,144,000 156,000
403 XX SRS K20 & 1,300,000 1,144,000 156,000
01 XS ASE X 1,300,000 1,144,000 156,000
OHAE (SICHe) MEH 2R ZAHAIY 1,300,000
=ZIIMESSEYSE X4 300,000 1,650,000 A 1,350,000
= 200,000
& 100,000
403 XX SHHS K20 & 300,000 1,650,000 A 1,350,000
= 200,000
& 100,000
01 XIS A2 X 300,000 1,650,000 A 1,350,000
OLEY 48 2)MESHEYE TLHAL(2
CHA) 300,000
= 200,000
& 100,000
H2IO|MENME 22 ZAEAI (HEALY) 220,000 396,000 A 176,000
403 XX SHHS K20 & 220,000 396,000 A 176,000
01 XIS AE2E X 220,000 396,000 A 176,000
ORH= HSIO|MENME 22 ZAAIY 220,000
MEf 22X S XA -4 55,900 55,900 0
= 43,000
= 12,900
308 XX EHH SO0l & 55,900 55,900 0
= 43,000
= 12,900
01 AIXISHHENEXZ 55,900 55,900 0
OMdEf 22X XNE - =4 55,900
= 43,000
== 12,900
CAMEfSAZ2E RAANY(HEAIY) 300,000 60,000 240,000
403 XX SRS K 20| & 300,000 60,000 240,000
01 AXESHIE2E X 300,000 60,000 240,000
Oses TAMEISAZ2E ZEAY 100,000
O%0tE TAIMEISA 22 ZHAYE 200,000
NHStHABEOIS AL (HEAY) 585,000 650,000 A 65,000
403 XX SRS K20 & 585,000 650,000 A 65,000
01 XIS A=2E X 585,000 650,000 A 65,000
OLEE MEEHL ZHAY 585,000
LU TAIME & SFAY 490,000 0 490,000




DN SN BT
D AAGD MYEEJE NASAXIH(BEES/AA)
D AAHEFEAEOIEAL (&)
CRA - S(BH) - HRAY - B Ol &k o8 il HlnE2
= 490,000
403 MtXISHHSA=0l& 490,000 0 490,000
= 490,000
01 XM A2E X 490,000 0 490,000
O TAIME =5 SJAY 490,000
= 490,000
7.28.~8.11. S22l SPAL (SZRIIE, =0Ft 25,380 0 25,380
)
= 25,380
403 MHXSHHSA=0l& 25,380 0 25,380
= 25,380
01 HXSHHMA=E X 25,380 0 25,380
OHg=E MEHREZ sdi=27AY 25,380
= 25,380
CA2NXNEZ2E 22 130,000 0 130,000
= 100,000
< 30,000
308 XXM SO0l A 130,000 0 130,000
= 100,000
< 30,000
01 IXNHHBNEES 130,000 0 130,000
OHL=INEZSE 29 130,000
= 100,000
< 30,000
NASZLHUEBAEA 3,000 3,000 0
NHBSSH HIUHs A 3,000 3,000 0
307 21201 A 3,000 3,000 0
02 QAFAAFEE 3,000 3,000 0
OXNESE R d=2U3 A 3,000
MESAEESL 2 2,683,547 2,314,436 369, 111
= 1,386,000
< 1,297,547
OrME =2 TIoHOol &AL 535,600 463,489 72,111
= 412,000
< 123,600
403 A X EHHSH=0IA 535,600 463,489 72,111
= 412,000
= 123,600
01 X EHMA=E L 535,600 463,489 72,111
OOtMESES Tlololl e Al 535,600
= 412,000
< 123,600
Ot == Iol2a X3 259,800 259,800 0




I EIE SN I
A AYSD MPAQYE NASATH(BALS/NY)
Sl opMSASEsY R (B9 ®R)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 259,800 259,800 0
01 HIXNHHBHNEELES 259,800 259,800 0
OOt == Hai24 X 259,800
M=E OoXE XA 299,014 299,014 0
308 XXIEHSOIA 299,014 299,014 0
01 IXNHHBNEES 299,014 299,014 0
OOt sSE moHYXE XH 299,014
Mg Px2eldH 29 X 493,333 813,333 A320,000
= 148,000
< 345,333
308 XtXIEHH SOl A 493,333 493,333 0
= 148,000
< 345,333
13 2SOHeE & X 2 AL I 493,333 493,333 0
O0sES2edEH 28 K& 493,333
= 148,000
< 345,333
MSAE BESES 2,000 2,000 0
202 Odl 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
OMSAESSES 2,000
MaXlel 2&712 X3 44,000 44,000 0
= 30,000
< 14,000
308 XXM SO0l A 44,000 44,000 0
= 30,000
< 14,000
01 IXNSHHBNEES 44,000 44,000 0
OMAIXIS B&I1& X 44,000
= 30,000
< 14,000
MEFH N M2 EXAS 182,000 65,000 117,000
= 140,000
< 42,000
308 XtXIEHH SOl A 182,000 65,000 117,000
= 140,000
< 42,000
01 X HHILEES 182,000 65,000 117,000
OMEfHwE M= EX A 182,000
= 140,000
< 42,000
SRS BE2s ZEAY 7,800 7,800 0
= 6,000




AR gAY SN YT
FM: AL6tD MPAQJE= NASATLH(BEAES/AA)
Sl opMSASEsY R (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
< 1,800
308 XX EHSOIA 7,800 7,800 0
= 6,000
< 1,800
01 IXNHHBNEES 7,800 7,800 0
OEERIE BSE23 ZdAY 7,800
= 6,000
< 1,800
METNABEAE XA K& 660,000 360,000 300,000
= 550,000
< 110,000
403 XIS E X201 & 660,000 360,000 300,000
= 550,000
< 110,000
01 X SHHA2E = 660,000 360,000 300,000
OMESNJAETAIE XA XA 660,000
= 550,000
= 110,000
Ofd=s2 X2 acldEH A WsAd &X 200,000 0 200,000
= 100,000
< 100,000
403 HXSHHSA=0l& 200,000 0 200,000
= 100,000
< 100,000
02 S 2S0Het A =H 2 & ArS 200,000 0 200,000
OOtMES=E A2y Al - DAL &X 200,000
= 100,000
< 100,000
e 2o 2 HIIS 2eldEt 14,510,192 11,457,360 3,052,832
= 11,884,950
< 2,625,242
=g Hols2el 2,117,692 3,685,360 A 1,567,668
= 1,077,950
=) 1,039,742
SAEIE 2HEA(UWS) 92,092 131,560 A 39,468
308 XX EHSOIA 92,092 131,560 A 39,468
113/ 2SoHUHeZAEEALS I 92,092 131,560 A 39,468
Os24&JI% =H24(USs) 92,092
SEHHE =HEH =2 644,850 639, 300 5,550
= 214,950
< 429,900
308 XXM SOIA 644,850 639, 300 5,550
= 214,950
< 429,900
01 AXHHBILEES 644,850 639, 300 5,550




EENHE SN BT
Ao #e L HolE 2223
Na=sd Hol22e (e &)
2SN B () NEAY - BAS 0 AF o il HZS2
OsZHH Y =HEAS 644,850
= 214,950
= 429,900
of™ol MY D HIAE(2LEH) 231,000 220,000 11,000
= 231,000
308 AXISHAMSOIA 231,000 220,000 11,000
= 231,000
01 AIXHMBANEXZ 231,000 220,000 11,000
Oolt&odt MY I HAME(2LE) 231,000
= 231,000
St™ol? MY D HIAS(EFEH) 31,000 28,000 3,000
= 31,000
308 AHXI S M SO0l & 31,000 28,000 3,000
= 31,000
01 AIXHHMBANEXZ 31,000 28,000 3,000
Oodt&ot? MY I HSAME(FFH) 31,000
= 31,000
=459 ot&Gt7 dSAY 22,000 22,000 0
308 AXISHXSOolIH 22,000 22,000 0
07 HXSHN2AEESZ 22,000 22,000 0
O2&dw< GtEGHT? HSAIS 22,000
SHeHLHE XA JAS 30,000 30,000 0
403 ItXISHNM S K201 & 30,000 30,000 0
01 AIXISHMA2E X 30,000 30,000 0
Os2delga+He AXXN3AAL 30,000
MEE sy ote axXX& 180,000 67,500 112,500
= 180,000
403 MtXISHHM S K201 180,000 67,500 112,500
= 180,000
01 X SHMA2E X 180,000 67,500 112,500
oMgg suore &x1X& 180,000
= 180,000
St=HIIZ2E 3 H3l 5,000 5,000 0
201 Bt A | 5,000 5,000 0
02 352494l 5,000 5,000 0
Ost=HII=S83 A3l 5,000
ssdotE KA 111,000 115,500 AN 4,500
= 111,000
403 ItXISHNM S K201 111,000 115,500 AN 4,500
= 111,000
01 AIXISHMA2E X 111,000 115,500 AN 4,500




#2483 SN I
e Zof & HIIZ 2eldst
ATE=ed Hils2el (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OsZHHE Ssdoty a5 111,000
= 111,000
ol el MHEAIE LIS AHI L HE S 465,000 1,696,500 A 1,231,500
= 310,000
< 155,000
403 UtXISHH S0l & 465,000 1,696,500 A 1,231,500
= 310,000
< 155,000
01 XM A=2EE 465,000 1,696,500 A 1,231,500
OHM& 22 HIISHSAIE 83 ALY 465,000
= 310,000
< 155,000
ANEzst(HEE) 243 AMY 305,750 0 305,750
403 A X EHS =0l A 305,750 0 305,750
01 RXISHH AR E 305,750 0 305,750
Oz (e )2L5 MY 305,750
HIIZ2XM2ANE &5 12,392,500 7,772,000 4,620,500
= 10,807,000
< 1,585,500
AL &x 3,092,900 3,706,000 A613,100
=2 2,692,000
< 400,900
403 UHXSHHSA=0l& 3,092,900 3,706,000 A 613,100
= 2,692,000
< 400,900
01 X SHMA=E X 3,092,900 3,706,000 A 613,100
O&= H2EX Z&AY 2,118,900
= 1,718,000
< 400,900
OL2z SLHEANE SEAY 674,000
= 674,000
Otz MEHIIS WS AIA(2EH) EX ALY 300,000
= 300,000
A2EAIE X 3,816,600 1,787,000 2,029,600
= 3,188,000
= 628,600
403 MtXISHH S0l & 3,816,600 1,787,000 2,029,600
= 3,188,000
< 628,600
01 XM A=2EE 3,816,600 1,787,000 2,029,600
OZFA HEHII2 A2AE SEAMY 370,000
= 300,000
< 70,000
Of& - SEFAHIISHelE 22X eAAMNE B
AL 951,500




A= g3z = 2M 23 FEHRY
ME: qpHol B U HIIS HelLs
S HIIES™MeAMNE &5 (&)
L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 865,000
< 86,500
Otz MEHIS A2AE XA 2,495,100
= 2,023,000
= 472,100
g ey &= 891,300 1,126,000 A 234,700
= 780,000
< 111,300
403 MtXISHHE X201 E 891,300 1,126,000 A 234,700
= 780,000
< 111,300
01 XM A=2EE 891,300 1,126,000 A 234,700
OHEFA HETUAS=HEH XA 306,100
= 248,000
< 58,100
OZd - SdZIHII=S HEELEANLE SEA
o 585,200
= 532,000
= 53,200
sSAZ HIISHMelAE &X 2,191,700 193,000 1,998,700
= 1,777,000
< 414,700
403 MHXSHHSA=0l& 2,191,700 193,000 1,998,700
= 1,777,000
< 414,700
01 X SHHMA=LE L 2,191,700 193,000 1,998,700
OfdEZ SASRHEIIZS S2XelAE XA
A 1,813,000
= 1,470,000
< 343,000
Otz SASRHEIIZS SSXMelAE XA
A 378,700
= 307,000
< 71,700
RISHKS HOIRHASIAIE & 330,000 0 330,000
= 300,000
< 30,000
403 A X EHHS =0l A 330,000 0 330,000
= 300,000
< 30,000
01 XM A=LE L 330,000 0 330,000
OBBFA RICHAE HOIRQIWIAZAIE &X
A 330,000
= 300,000
< 30,000
HEB WUXES T8 AY 2,070,000 960, 000 1,110,000
= 2,070,000




M ox
40 5 4

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 2,070,000 960,000 1,110,000
= 2,070,000
01 HXHMA=LE X 2,070,000 960,000 1,110,000
Ouatz E&d HUXES ZdAY 550,000
= 550,000
Os4dz &8 HUXE2 ZdAMd 1,520,000
= 1,520,000
HE2IAZH (B2 E M) 79,663 74,963 4,700
Jl23dl 79,663 74,963 4,700
Jl=Z 79,663 74,963 4,700
201 et 16,853 16,853 0
01 At 22l 16,853 16,853 0
OJle=+=EHl 6,878
OJl2= &l 9,975
202 (44l 35,910 35,910 0
01 = LH o4 1l 35,910 35,910 0
OJl=0tl 35,910
203 ¥ S =&l 22,800 22,200 600
01 JI22E 2= 6,600 6,600 0
SEE R 6,600
04 FN2ELRZ=TH 16,200 15,600 600
O3 &Mt 3,600
OJI= It 4,200
O=Xt& 2tel 4,200
O&td = Xl ot 4,200
405 XHobF S HI 4,100 0 4,100
01 AL EZFH S 4,100 0 4,100
OZele(4th) 4,100
HWeas(sZd™ ) 38,000 0 38,000
WEHHX = 38,000 0 38,000
LHEHH X = 38,000 0 38,000
705 ==&l 34 38,000 0 38,000
04 Al - EXHHLII S0 == 0l Kt &t &t 38,000 0 38,000
OS2l =7 A (2020) 38,000




N & 0l & AF S & M M

HE 20A LBIEH BANYE ~ BYNYR
R SA B
MRS L 220y
CJI=HE e # A (Sl & &)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
JI= oIt 136,203,876 80,570,971 55,632,905
= 109,345,774
< 26,858,102
StZJI&E & X230 136, 145,559 80,518,208 55,627,351
= 109,345,774
< 26,799,785
S8 e ¥ 82 1,876,600 860,400 1,016,200
= 1,586,600
< 290,000
JIZUII MG 10,000 10,000 0
201 Let24E] 10,000 10,000 0
01 At 22l 10,000 10,000 0
Ot & ==ZHl 10,000
HIAHSE AISE 2AI0tA MSHHLE (AlZ) 90,000 75,000 15,000
= 90,000
308 MXIEHSOIH 90,000 75,000 15,000
= 90,000
01 HXNHHBHEES 90,000 75,000 15,000
OHIMHEZ MBEF240tA AHALE 90,000
= 90,000
HIAEEE AIHE 24IIA MHALE (2H) 100,000 90,000 10,000
= 50,000
< 50,000
307 21201 A 100,000 90,000 10,000
= 50,000
< 50,000
02 It S AHE L 100,000 90,000 10,000
OHIMHEZ AL ET240tA JASHALE 100,000
= 50,000
< 50,000
JI=HstusdH 29X 80,000 70,000 10,000
= 40,000
< 40,000
307 glz2tol & 80,000 70,000 10,000
= 40,000
< 40,000
02 It M AHE X 80,000 70,000 10,000
OJI=HatuNsdE 23 XA 80,000
= 40,000
< 40,000
SHATZOIEN JIYIt7 ClMEE X2 144,600 162,000 A 17,400
= 144,600
308 XtXIEHH SOl A 144,600 162,000 A 17,400




A= g3z = M =IO
M HREZBIN=E L X720y
@ I e ¥ "2 (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 144,600
01 IXNHHBNEES 144,600 162,000 A 17,400
OEAZOEN 29 144,600
= 144,600
NS BEAZERM QAMEIE Xz 9,000 5,400 3,600
= 9,000
308 XX EHHSOIA 9,000 5,400 3,600
= 9,000
01 AXHHILEES 9,000 5,400 3,600
OXsx BAZIEN AHMEE X2 9,000
= 9,000
BII=ANE BASEEZZOH 948,000 98,000 850,000
= 948,000
403 UHXSHHSA=0l& 948,000 98,000 850,000
= 948,000
01 X ESHMA=2E L 948,000 98,000 850,000
OFI=ZANE BASEHEZOHY 948,000
= 948,000
2A A 2E4H X3 ALY 185,000 0 185,000
= 185,000
403 MtXISHH S =0l & 185,000 0 185,000
= 185,000
01 AXSHMA=2E X 185,000 0 185,000
Oz24alts Z2FEH XNEAY 185,000
= 185,000
JI=Hst HAHNS XA 30,000 0 30,000
= 30,000
403 MtXISHE X201 & 30,000 0 30,000
= 30,000
01 X SHHXN2E = 30,000 0 30,000
OJl=dst HAANS K& 30,000
= 30,000
Jl=Hs HSUH MBEASEHE =8 100,000 0 100,000
201 Let249] 3,540 0 3,540
01 At 22l 3,540 0 3,540
OHMetN EIAd =¢ 3,540
207 A O] 96,460 0 96,460
01 289 96,460 0 96,460
OJlZHs MU MSARHE 22 B 96,460
JI=Hs e JI2HE =8 180,000 0 180,000
= 90,000
< 90,000




A= g3z = M =IO
M RSB U NP2 Y
Sl JBHE (S L NS (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
201 ¢er24| 3,880 0 3,880
= 1,940
< 1,940
01 At 22l 3,880 0 3,880
OHMetA HIIRIH = 3,880
= 1,940
< 1,940
207 &2 176, 120 0 176,120
2 88,060
< 88,060
01 A3 39l 176,120 0 176,120
OJI=Hs s JI=2HE =8 176,120
= 88,060
S 88,060
thorgrd e 119,440,972 53,595,405 65,845,567
= 95,948,260
< 23,492,712
2ANEX MK 22,870,000 17,486,000 5,384,000
= 20,550,000
< 2,320,000
403 Tt S H S X201 & 22,870,000 17,486,000 5,384,000
= 20,550,000
< 2,320,000
01 X SHHMA=2LE L 22,870,000 17,486,000 5,384,000
O=A2XtsX ROA 22,870,000
= 20,550,000
=) 2,320,000
2ANEX EHOUTE} 2E 4,400,000 8,400,000 A4,000,000
= 3,000,000
=) 1,400,000
403 X SHHSA=0l& 4,400,000 8,400,000 24,000,000
= 3,000,000
=) 1,400,000
01 X SHMA=2E X 4,400,000 8,400,000 A 4,000,000
=AXsSX sHZe 2= 4,400,000
= 3,000,000
< 1,400,000
IR BHEOtA M2 ALY 28,756,354 10,521,894 18,234,460
= 23,278,420
= 5,477,934
308 XtXIEHH SO0l A 26,468,354 9,471,894 16,996,460
= 21,518,420
= 4,949,934
01 AXHHBIYEES 26,468,354 9,471,894 16,996,460
OL=:Zd S =J| HXAY X & 14,027,904




A= g3z = M =IO
Hau: RSB L NPSUE0Y
S torEad e (Sl & &)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
= 11,689,920
= 2,337,984
OL2ARI WEINA HAEI LA 8,401,250
= 6,462,500
< 1,938,750
OA&IIH OPF XA 475,200
= 396,000
< 79,200
OAEIAH AT WH X 3,564,000
= 2,970,000
= 594,000
403 UtXISHE X201 & 2,288,000 1,050,000 1,238,000
= 1,760,000
< 528,000
01 X SHHX2E = 2,288,000 1,050,000 1,238,000
OLPG st=xt A X+ K& 2,288,000
= 1,760,000
< 528,000
HOHIIAXE 2H EX 257,400 79,950 177,450
= 198,000
< 59,400
403 UHXSHHSA=0l& 257,400 79,950 177,450
= 198,000
< 59,400
01 HXSHMA=LE X 257,400 79,950 177,450
OFAHIAXE FLH EX 257,400
= 198,000
< 59,400
HINSK POHAL 59,240,000 15,549,200 43,690,800
2 45,700,000
=) 13,540,000
403 MtXISHH S =01 & 59,240,000 15,549,200 43,690,800
= 45,700,000
=) 13,540,000
01 AXISHHA=2E = 59,240,000 15,549,200 43,690,800
OFSIPNE=p I DNE] 59,240,000
= 45,700,000
< 13,540,000
HII0IEX ESAtY 270,000 204,700 65,300
= 270,000
403 A X EHHS =0l A 270,000 204,700 65,300
= 270,000
01 XXM 22 = 270,000 204,700 65,300
OHIIOIEX ESALY 270,000
= 270,000
210l S8t xH2 XA 1,111,500 825,000 286,500




A= EHHAMEZ 2A =Ll
Hau: RSB L NPSUE0Y
S torEad e CEE-ED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ol At o %Eﬁ HR=2
= 855,000
= 256,500
403 XX SHHS K20 & 1,111,500 825,000 286,500
2 855,000
= 256,500
01 XIS AE2E X 1,111,500 825,000 286,500
O0elol S&xE LPGRF &8 XA 1,111,500
= 855,000
& 256,500
S22 MY AMAHX H2ZAFS 200,000 0 200,000
= 200,000
403 XX SRS K 20| & 200,000 0 200,000
= 200,000
01 XHHXE2E =X 200,000 0 200,000
OS2 MHIMHK HAAIG (=28 F3AXE 2
olHl BX) 200,000
= 200,000
NHE H=ARYR EIAY 1,105,488 101,880 1,003,608
= 921,240
= 184,248
403 Lt X SHAI S K20l & 1,105,488 101,880 1,003,608
= 921,240
& 184,248
01 MXHHAE2BE = 1,105,488 101,880 1,003,608
OJIEE NsAE22d BE2AY 1,105,488
= 921,240
< 184,248
F=8A )| 34 XA 543,830 117,980 425,850
= 455,600
o= 88,230
403 XX SHHMS X201 & 543,830 117,980 425,850
= 455,600
=} 88,230
01 XIS AS2E X 543,830 117,980 425,850
OF8A )| al=4&H NIAY 543,830
= 455,600
& 88,230
NAHM Holgsd2 44X - 29 292,500 0 292,500
= 195,000
&< 97,500
403 XX SHHS K20 & 292,500 0 292,500
= 195,000
& 97,500
01 AIXISHHMA=Z2E X 292,500 0 292,500
OXXH a8y &1 292,500
= 195,000




A= g3z = A =0
M RSB U NP2 Y
Chelr o1& e (&)
2 2A B E(AN) - MEAY - BYS Ol &k o8 il HlnE2
| = 37,500
S SHSH HEALE AF(EX) 292,500 0 292,500
= 225,000
< 67,500
403 Mt SHHSA=0l& 292,500 0 292,500
= 225,000
< 67,500
01 HIXSHMA2E X 292,500 0 292,500
OXNSA 2 HME felc=3tet 20 X 292,500
= 225,000
< 67,500
st 2HMHE SGEAAH 2 1,400 2,400 A 1,000
201 L2l 1,400 2,400 A 1,000
02 22224l 1,400 2,400 A 1,000
O2#H e HZ5AAH SNRB 1,400
OIHISEA HAXS Bs22AY 100,000 0 100,000
= 100,000
403 XIS E X201 E 100,000 0 100,000
= 100,000
01 *XSHMA=2EER 100,000 0 100,000
OO0IAHIZR HAEXNSA dS2el ALY 100,000
= 100,000
MetEd o 6,931,625 6,135,930 795,695
= 5,351,250
< 1,580,375
AATIoh 2HUR(US) 20,000 20,000 0
308 XX EHH SOl A 20,000 20,000 0
01 AXSHBLELS 20,000 20,000 0
OMAIo 2AHUE(KHS) 20,000
Zd0IE HMel - g X 6,629,350 6,045,930 583,420
= 5,099,500
< 1,529,850
308 XXM S0 A 6,629,350 6,045,930 583,420
= 5,099,500
S 1,529,850
01 AXNSGHBLAEES 6,629,350 6,045,930 583,420
OsdiolE HMel - g N 6,629,350
= 5,099,500
< 1,529,850
Sd0IE A=EE A A 132,275 0 132,275
= 101,750
< 30,525
308 AXIEtH S0l A 132,275 0 132,275
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A= EHHAMEZ 2A =Ll
M RSB U NP2 Y
Rl IS AXNECSEHA 25 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
12 JIEtE2 A= 1,000 1,000 0
QEtFAED ADBAZ 1,000
Z2ENESESEI|D| X - 2922/ XN 212,038 889, 333 ANB77,295
= 191,520
& 20,518
308 XNXISHH SO0l & 212,038 120,000 92,038
= 191,520
= 20,518
01 IXHHIMNEXZ 212,038 120,000 92,038
O=2sXAsSEc3dD|J] 84X - 29224l XA 212,038
= 191,520
= 20,518
=ATNS=HI| I X - 29224 N 90,400 0 90,400
= 80,000
o= 10,400
308 XX SHHSOIH 90,400 0 90,400
= 80,000
= 10,400
01 AIXSHMENEXZ 90,400 0 90,400
Ox=&XNsS=s3dI|I X - 2224l XN 90,400
= 80,000
= 10,400
ol & =& TMS AI&E&EA 2,300 2,300 0
202 04| 2,300 2,300 0
01 2Ll 2,300 2,300 0
oI &« =& TMS NE=EH 2,300
DI2tets EEUD| &3 X2Z0l XA 10,000 10,000 0
301 et A =2 10,000 10,000 0
12 JIEtE A= 10,000 10,000 0
Oblztegds HEUD &3 X&0| 10,000
ATFDAISE BEXAIE X KN (EH) 900,000 4,338,000 A 3,438,000
= 500,000
o= 400,000
402 SI2FXHE0| & 900,000 4,302,000 A 3,402,000
= 500,000
o=} 400,000
02 QIZEXIE A E X (0| XM THH) 900,000 4,302,000 N 3,402,000
OAXAZAIEE SXAIE XX 900,000
= 500,000
& 400,000
ATSDAIS T BXAIE X XNF(XNH) 5,389,000 13,354,000 AT7,965,000
= 4,475,000
& 914,000




AR ENHE 2A B UIID
dM: IReSII=E & XNF2235H0
chel: HEgAXNEEE 23 (&)
CRA - S(BH) - HRAY - B Ol &k o8 il HlnE2
403 UHXSHHSA=0l& 5,389,000 13,354,000 A7,965,000
2 4,475,000
< 914,000
01 X SHMA2E X 5,389,000 13,354,000 A7,965,000
ORI AHZE LXAIE XX 5,389,000
= 4,475,000
< 914,000
INHX =29 - DBCH BHE ol 2ZAl XNRAS (Z &) 905, 144 1,000,000 A 94,856
= 905, 144
308 XXM SOIA 905, 144 1,000,000 A 94,856
= 905,144
01 IXNHHBANEES 905, 144 1,000,000 A 94,856
OOIMSX 28 - U BHEH Y 2ZAI& 22|
S 905, 144
= 905,144
INIHX 3xt& =22 (X&) 308,000 43,000 265,000
= 308,000
403 UtXISHH S0l & 308,000 43,000 265,000
= 308,000
01 XM A=2E X 308,000 43,000 265,000
OO0IMEZR 3 =H2A2lE E8 7Y 308,000
= 308,000
HYR2FZH (II=THIID) 58,317 52,763 5,554
Jl=3l 58,317 52,763 5,554
JI23l 58,317 52,763 5,554
201 L2l 26,627 16,853 9,774
01 AtR 22l b 26,627 16,853 9,774
OJlz4 2| 15,602
oJlzazl 11,025
202 O4dl 31,690 35,910 AN4,220
01 = LH 4 Hi 31,690 35,910 N4, 220
OJ120Hl 31,690




= A
N = 0 & AF S 99 N A
20218 & 20 A LBHGH S ME =2 ~ SHHAE R
AR gAY SN aRRBE D
HE: o2 20| YXE #=E 52
S9l: T8l RED} OEGlE O NS 2 B3 CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
2= A& 2 e| ot 206,319,378 246,890,687 ~N40,571,309
= 118,364,194
g 37,280,000
Jl 7,039,340
= 43,635,844
a2 20 Uxles H=s == 203,935,134 246,112,370 NA2 177,236
= 118,364,194
g 37,280,000
Dl 7,039,340
= 41,251,600
T0l PEI} OH=ESleE CHEE 2 22 88,196,344 115,082,300 N 26,885,956
= 16,840,494
g 37,280,000
Dl 6,768,000
o= 27,307,850
SHEMEZS HLANS(MEAY) 17,916,000 15,928,000 1,988,000
403 XX SRS K20 & 17,916,000 15,928,000 1,988,000
01 MXSHAHNEE X 17,916,000 15,928,000 1,988,000
OsHEMEZES HEAY 17,916,000
AR LETAE HSANY(HEAY) 1,962,000 2,260,000 A 298,000
403 XX SHHS K20 & 1,962,000 2,260,000 A 298,000
01 XIS A=2E X 1,962,000 2,260,000 A 298,000
OLAFABRSTAIE JHEALY 1,962,000
ANeta=CSHSANSY 42,339,650 59,634,000 N 17,294,350
Fag 37,280,000
& 5,059,650
403 XX SHHS K20 & 42,339,650 59,634,000 N 17,294,350
Fag 37,280,000
o=t 5,059,650
01 XIS A=Z2E X 42,339,650 59,634,000 N 17,294,350
OXNSaSECSHHSAIS 42,339,650
g 37,280,000
= 5,059,650
ADE Nga-E XA 16, 154,000 29,557,000 A 13,403,000
= 14,461,000
= 1,693,000
403 XX SRS K20 & 16, 154,000 29,557,000 A 13,403,000
= 14,461,000
= 1,693,000
01 AXESHHEE X 16, 154,000 29,557,000 A 13,403,000
OALNE XgareE X3 ALY 16, 154,000
= 14,461,000
& 1,693,000
XA XAt CIAIAE"E 2 494,500 0 494 500




M ox
40 5 4

syae= S AT
%2 20 Yxle #=s 52
SO DS BEGE UHME 2 B2

R.RA-ZE-G(HH) - HRAY - BES il H D = 2t

= 494,500

403 XAXISH M S K201 A 494,500 0 494,500
= 494,500

01 XXM A2E = 494,500 0 494,500
OXNgax=E RHat2elAA" RF 494,500
= 494,500

8 0AMd 400,000 600,000 A 200,000

403 XAtXISH M S K201 ™ 400,000 600,000 A 200,000

01 XXM A2E = 400,000 600,000 A 200,000
Os=sHIMHA 400,000

S=2XS H=s ZIHEMY 6,768,000 6,417,000 351,000
6,768,000

403 Mt S X201 & 6,768,000 6,417,000 351,000
6,768,000

01 XXM A2 £ 6,768,000 6,417,000 351,000
OY=XY H=2 =2 AY 6,768,000
6,768,000

=22 LR =X 8,200 5,700 2,500

201 L2l 7,000 4,500 2,500

01 At 2t 2|l 6,000 4,500 1,500
Ot & =gl 6,000

02 =224l 1,000 0 1,000
Ogt=a&ot+== &3l 1,000

203 PR =&l 1,200 1,200 0

03 Al =X A2 =XH| 1,200 1,200 0
OxXJAFHNPLLRFZ 1,200

LE M2 FLUIA XA 853,200 530,600 322,600
= 756,000
= 97,200

308 XXM S0 A 853,200 530,600 322,600
= 756,000
< 97,200

01 AXNSHHBLEES 853,200 530,600 322,600
LE 22 HLUIA XA 853,200
= 756,000
= 97,200

& A2 WA 625,000 0 625,000
= 500,000
= 125,000

403 XIS E X201 H 625,000 0 625,000
= 500,000
= 125,000
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AR ENHE 2H AR
B e 20 UXE #=8 59
ool S50 SH2ALZ WRE =XE 2B (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
HEQEA M A 2,614,380 3,088,300 AN473,920
= 2,043,000
< 571,380
403 UHXISHHSA=0l& 2,614,380 3,088,300 AN473,920
= 2,043,000
< 571,380
01 HXESHMA=LE L 2,614,380 3,088,300 AN473,920
OHIEEMZ ALY 2,614,380
= 2,043,000
< 571,380
MESHE SRAIS (MEAIY) 3,405,000 4,598,000 A 1,193,000
403 MtXISHH S =01 & 3,405,000 4,598,000 A 1,193,000
01 HIXSHMA2EE 3,405,000 4,598,000 A 1,193,000
OMEfSIE =3 A 3,405,000
7.28.~8. 1.3 M SPAI (MEGHA , 20 FIt) 158,700 0 158,700
= 158,700
403 Mt S E X201 E 158,700 0 158,700
= 158,700
01 AXSHHMA2E = 158,700 0 158,700
Q7.28.~8.11. Sl STPAIS (MEHSHE, =2
DEIH) 158,700
= 158,700
X Eotsgt Kok 2el A =28 5,100 52,800 A47,700
S=dzE =22 5,100 5,000 100
202 044l 4,500 4,500 0
01 = LH o4 1l 4,500 4,500 0
OHsds =& 4,500
206 = Hl 600 500 100
01 M2 4l 600 500 100
H=dZ=E FSME &= 600
St AlE &FE2Z HE HEEE X2d 109,229,000 122,970,000 A 13,741,000
= 99,322,000
< 9,907,000
N=E2aISSHEAIE N A 300,000 180,000 120,000
= 300,000
403 A X EHHS 20l A 300,000 180,000 120,000
= 300,000
01 X ESHHMA=E L 300,000 180,000 120,000
ON=EEESHIUAE HEAY 300,000
= 300,000
St=HMeld &= 3,849,000 26,596,000 N22,747,000
= 3,484,000




AZ: BHMYR SN XAz
M 92 20| EXl=s &=8 ==
Ol SIACAIM HECR HNE MBHA X4 CER-ED
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

< 365,000

403 MtXISHHSA=0l& 3,849,000 26,596,000 A22,747,000
2 3,484,000
< 365,000

01 XM A=2E X 3,849,000 26,596,000 A22,747,000
Odt=HelE &= 3,849,000
=2 3,484,000
< 365,000

St=Xel THOIS ALY 4,251,000 6,542,000 A 2,291,000
= 4,212,000
< 39,000

403 XIS E X201 & 4,251,000 6,542,000 A 2,291,000
= 4,212,000
< 39,000

01 X SHHA2E = 4,251,000 6,542,000 A 2,291,000
Oodt=HXcl= 0l S At 4,251,000
= 4,212,000
= 39,000

sHEOISot=E &I 20,044,000 14,726,000 5,318,000
= 19,259,000
< 785,000

403 HXSHHSA=0l& 20,044,000 14,726,000 5,318,000
= 19,259,000
< 785,000

01 X SHHMA=LE L 20,044,000 14,726,000 5,318,000
Os0EOsdt=S & 20,044,000
= 19,259,000
< 785,000

ot=2t2 F H| 35,311,000 34,442,000 869,000
=2 31,636,000
< 3,675,000

403 MtXISHH S0l & 35,311,000 34,442,000 869,000
= 31,636,000
= 3,675,000

01 XM A=2EE 35,311,000 34,442,000 869,000
Oot=2t2 FH| 35,311,000
= 31,636,000
< 3,675,000

St+Z2ZHHIBTLE U Z 26,328,000 26,720,000 A392,000
= 25,126,000
= 1,202,000

403 A X EHHS =0l A 26,328,000 26,720,000 A 392,000
= 25,126,000
< 1,202,000

01 X SHHX2E = 26,328,000 26,720,000 392,000




I EIE SH XA
HE: o2 20| YXE #=E 52
Ol SIACAIM HECR HNE MBHA X4 CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
Obodtx=&2&H| BTLY M= 26,328,000
= 25,126,000
= 1,202,000
TAEUS 16,293,000 13,078,000 3,215,000
= 13, 188,000
= 3,105,000
403 XX SHHS K20 & 16,293,000 13,078,000 3,215,000
= 13, 188,000
& 3,105,000
01 AIXISHMA=2E X 16,293,000 13,078,000 3,215,000
OEANE=US 16,293,000
= 13, 188,000
& 3,105,000
HEole=Xel & &X 964,000 564,000 400,000
= 854,000
& 110,000
403 XX SHHS K20 & 964,000 564,000 400,000
= 854,000
o= 110,000
01 XS AS2E X 964,000 564,000 400,000
OHEAdt+=Hel & & 964,000
= 854,000
= 110,000
Loz FUXA XS 1,889,000 122,000 1,767,000
= 1,263,000
= 626,000
403 XX SHHS K20 & 1,889,000 122,000 1,767,000
= 1,263,000
= 626,000
01 XIS A=Z2E X 1,889,000 122,000 1,767,000
OLsot4+a2 HLUXA NS 1,889,000
= 1,263,000
o= 626,000
2=l 22| 720,000 720,000 0
PN EEZ 22 720,000 720,000 0
AP ESZ2HLNES 720,000 720,000 0
308 XAHXIGHH SO0l & 720,000 720,000 0
028N E2 720,000 720,000 0
OFZNHEEZ2 ALNE= 720,000
HESHAY (=X 221 62,094 58,317 3,777
Jl2&Hl 62,094 58,317 3,777
Jl2&Hl 62,094 58,317 3,777
201 2Et24Hy| 19,514 18,627 887




AR ENHE SN 2T
My @AY (=X Y)
& 123l cet )
224 ZB SN - HRAY - BES il Bl RE2
01 At 22l 19,514 18,627 887
OJl2+=&Hl 7,964
OJle s gl 11,550
202 O4dl 41,580 39,690 1,890
01 = LH 4 Hi 41,580 39,690 1,890
OJlEul 41,580
405 XHoHE S HI 1,000 0 1,000
01 AL EZFH S 1,000 0 1,000
OZgly #¢ 1,000
MHWReS (=X 2l ) ,602,150 0 1,602, 150
WHEHHXZ ,602, 150 0 1,602, 150
LHEHe X = ,602, 150 0 1,602, 150
701 JIEtSI HETES ,602, 150 0 1,602, 150
01 JIEtSIHE &S ,602, 150 0 1,602, 150
OXNSTHAANEN SEAH HES ,602, 150
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A2 BINEYR SN ST
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
At =X 127,958,592 105,414,307 22,544,285
= 68,482,248
s 11,323,000
J| 1,281,000
< 46,872,344
JHE MEHE=EH 127,716,237 105,320,539 22,395,698
= 68,466,119
s 11,323,000
J| 1,281,000
< 46,646,118
AHISEXA 8,764,156 8,789,096 A24,940
= 5,019,588
< 3,744,568
MHIFIAE Y 59,269 30,685 28,584
= 39,513
< 19,756
308 XXl EHH SOl A 59,269 30,685 28,584
= 39,513
< 19,756
01 AXHHILEES 59,269 30,685 28,584
Otz gAHeEHY 59,269
= 39,513
= 19,756
QLSS 631,766 364,350 267,416
= 361,009
< 270,757
308 AHAIEHHSOIA 631,766 364,350 267,416
= 361,009
< 270,757
01 HIXNHHNBNEES 631,766 364,350 267,416
OZLtE &3t 631,766
= 361,009
< 270,757
AASIHS KA 554,426 118,216 436,210
= 316,815
< 237,611
403 MHXISHHE X201 E 554,426 118,216 436,210
= 316,815
< 237,611
01 X S22 = 554,426 118,216 436,210
Oget= I & 554,426
= 316,815
< 237,611
AMSHNEAXZAE 1,298,500 213,150 1,085,350
= 742,000
< 556,500
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403 UHXSHHSA=0l& 1,298,500 213,150 1,085,350
= 742,000
< 556,500
01 X SHMA2E X 1,298,500 213,150 1,085,350
OYMSHEAZAIL 1,298,500
2 742,000
< 556,500
MSRSII BRI A 220,500 91,700 128,800
2 126,000
< 94,500
403 MtXISHHE X201 & 220,500 91,700 128,800
= 126,000
< 94,500
01 X SHHA2E = 220,500 91,700 128,800
OgutE RSIIEHXEA 220,500
2 126,000
< 94,500
LLASHADIBIEY 763,837 829,780 A 65,943
= 436,478
< 327,359
403 A X EHHS =0l A 763,837 829,780 265,943
= 436,478
< 327,359
01 X SHHMA=2LE L 763,837 829,780 A 65,943
OYLESMADIEtE S 763,837
= 436,478
< 327,359
A MA N EEOIHE XI& 10,640 3,360 7,280
= 6,080
< 4,560
308 XX EHSOIA 10,640 3,360 7,280
= 6,080
< 4,560
01 HIXNHHBNEES 10,640 3,360 7,280
Ottty datndateliE K& 10,640
= 6,080
< 4,560
MRS MMET Y 109,000 113,400 4,400
= 87,200
< 21,800
403 MHXISHE X201 E 109,000 113,400 A 4,400
= 87,200
< 21,800
01 X SHHX2E = 109,000 113,400 A 4,400
OME A S AR =4 109,000
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AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 87,200
= 21,800
MNEsstFASTR XM 965,894 1,300, 110 N 334,216
= 643,929
= 321,965
403 XX SHHS K20 & 965,894 1,300, 110 N 334,216
= 643,929
= 321,965
01 XIS A2E X 965,894 1,300, 110 N 334,216
ONgl 283X =4 965,894
2 643,929
=} 321,965
AMNSMACHI] A ABHALSA 1,693,419 2,185,517 A 492,098
2 967,668
& 725,751
403 XX SHHS K20 & 1,693,419 2,185,517 A 492,098
2 967,668
& 725,751
01 XIS A=2E X 1,693,419 2,185,517 A 492,098
OUAASMACHT ZA AMALS 1,693,419
= 967,668
o= 725,751
et AMS T 22 (ELIHEHN) 103,732 58,516 45,216
= 85,426
o= 18,306
308 AMXISHMSOIA 103,732 58,516 45,216
= 85,426
o= 18,306
01 AIXSHMENEXZ 103,732 58,516 45,216
OrEH AAZS THHH 2SI (ELIHFAN) 103,732
= 85,426
& 18,306
A AAS THHHZEZI(KIIEHIZ2) 499,956 546,418 N46,462
2 411,130
& 88,826
308 XHXIEH SOl A 499,956 546,418 N46,462
= 411,130
& 88,826
01 AIXISHHEMNEX= 499,956 546,418 N46,462
OREAH AAS THHI 22 (SI1EHI2) 499,956
2 411,130
o= 88,826
AMZE AR SERSHE 900,000 480,000 420,000
= 750,000
= 150,000
403 XX SRS K 20| & 900,000 480,000 420,000
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A= EHHAMEZ 2A A E =X
MY ANY MENESH
ool MY CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
203 R F & 1,200 1,200 0
03 AIZH =X 2= X H| 1,200 1,200 0
OME =XIAIM =& 1,200
O LISE AES AFY(ZA)(ESALY) 390,000 567,060 A 177,060
308 XX GHHM SO0l & 390,000 567,060 A 177,060
01 AIKISHHENEXZ 390,000 567,060 A 177,060
OeldEadd AAEH RE S 390,000
Ol&LISR AlES A (XH2)(HEAIY) 260,000 82,940 177,060
403 XX SRS K20l A 260,000 82,940 177,060
01 AXESHHIE2E X 260,000 82,940 177,060
OO0l AESH A (Z2S0I2AI4) 260,000
MNEHEAES 16,601,866 15,459,679 1,142,187
= 9,078,641
o= 7,523,225
AEULHAH RE2H(ZY) 346,550 317,724 28,826
= 239,000
= 107,550
308 XX SHHSOIH 346,550 317,724 28,826
2 239,000
o 107,550
01 AIXSHMEMNEXZ 346,550 317,724 28,826
ONMELRQ2ZAIIIH S SXES 60,320
= 41,600
& 18,720
Odt=AE X EAF 57,652
= 39,760
c 17,892
OHN=AE 2 AFEMA 88,218
2 60,840
& 27,378
OB N 140,360
2 96,800
o= 43,560
MEXSHAH RES2H(ZY) 232,712 230,392 2,320
= 160,491
= 72,221
308 MXISHMSOIA 232,712 230,392 2,320
= 160,491
= 72,221
01 IXHHIMNEEXTZ 232,712 230,392 2,320
OJH el &l 3FEHH| 129,008
= 88,971
& 40,037
OsHE24d)| 32,480




0

Ol

o

TA

a0 1o
Ly
Fli )
<0 W
R0 = a0
i 50 <J

M & oF
< RO T

<

n0

Kio

Hl w

N44,874

8,200

8,200

1,400

1,400

A54,474

Nb4,474

H3r
Wikd
RIS

4,000

4,000

4,000

139,700

8,400

8,400

1,600

1,600

129,700

129,700

198,302

Off &t 24

22,400
10,080
38,454
26,520
11,934
32,770
22,600
10,170

i

H

fir

H

i

H

4,000

1,600
2,400
4,000

i

H

1,600
2,400
4,000
4,000

rr

H

1,600
2,400
94,826
59,720
35,106
16,600

fir

H

fi

H

6,640
9,960
16,600

i

H

3,400

1,360
2,040
13,200

rr

H

5,280
7,920

fi

H

3,000
1,200
1,800
3,000
3,000
1,200
1,800
75,226
51,880
23,346
75,226
75,226
51,880
23,346
198,302

i

H

fir

H

fir

i

H

ol

202 Oddl

01 =LHOI LI

2SS 0ddl

ok

) REAI

AH(

105

30
0K
1J
oll

01 AtR 2t 2l |

0H
i

0

0H
K

202 04l

01 SLHOYI

307 glztol &

i
wr

Ok

s

~J

ol




M ox
40 5 4
oM

DO;‘Al_l.\:I e o
ME SIS
SR

U
W
il
x
z
I
i
paa
(]

SN -ZH-SA(BA) - HRAY - B il HlnE2

= 136,760
< 61,542

403 X SHHS =0l & 198,302 198,302 0
2 136,760
< 61,542

01 XM A2E X 198,302 198,302 0
OUtE2ASHAIE 102,660
= 70,800
< 31,860
OdEASIAE RS 14,442
= 9,960
< 4,482
O&=2 22 AN 2t WA 69,600
= 48,000
< 21,600
O&2ZAIA- 11,600
= 8,000
< 3,600

AZLSHA 2S2L(XE) 641,219 1,110,149 A 468,930
= 442,220
< 198,999

403 X SHHSA=0l& 641,219 1,110,149 A 468,930
= 442,220
< 198,999

01 X SHMA=E X 641,219 1,110,149 A 468,930
OAt2 & 3 X 111,360
= 76,800
< 34,560
ORAFANE (=) 5,220
= 3,600
< 1,620
Ot E2HMAIAE SHZE 44,109
= 30,420
< 13,689
ORHIANE(ZEHIIXZ) 11,600
= 8,000
= 3,600
OJIAHE &2 HSAAH(5EH) 4,930
= 3,400
< 1,530
OF 2=—=3-'DNPNE-Ru = 464,000
= 320,000
< 144,000

ENSER L FAH(RE) 464 928 1464
= 320
= 144

403 UHXISHHE X201 H 464 928 AN464
= 320




A2 BINEYR SN MESXD
A ZHE MERNIFSH
thel: JMEEAES (cho &)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
< 144
01 XM A2E X 464 928 AN464
O8EXZAL 2AFHIANE 464
= 320
[ 144
MEXMZ0H LA 5,765,612 5,677,830 87,782
= 3,976,285
= 1,789,327
308 XX EHHSOIA 5,765,612 5,677,830 87,782
= 3,976,285
< 1,789,327
01 X HHILEXS 5,765,612 5,677,830 87,782
OdsdzZugdal 29 5,428,723
= 3,743,947
< 1,684,776
Ot=dIog Nl 22 155,465
= 107,218
< 48,247
OUMETZHENEH =X 181,424
= 125,120
< 56,304
MESAL 2R= 8,099 8,043 56
= 3,240
< 4,859
201 £B-2%H| 8,099 8,043 56
= 3,240
< 4,859
01 At 2t 2l 8,099 8,043 56
OdMESALN 22= 8,099
= 3,240
< 4,859
M2 2ZAIA ,595,246 2,079,880 515,366
308 XXIEtH S0 A ,595,246 2,079,880 515,366
01 IXNHHBNEES ,595,246 2,079,880 515,366
OdEZ A ,595,246
MEXSHE XD ,800,000 1,200,000 600,000
201 Let24d| ,800,000 1,200,000 600,000
01 At 22l ,800,000 1,200,000 600,000
O&=dstE AR ,800,000
METAES 14,986 16,986 A 2,000
201 Let249] 9,986 11,986 A 2,000
01 At 22l 7,560 9,560 A 2,000
OU=EXNHY 222 M 1,800




AR ENHE SN Y=
M AR MAXARH
ool MEBELES (crol e
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
Ot S8+2 =&l 5,760
02 2324l 2,426 2,426 0
O=323<LHA 426
-SdIX= HEIIes 36
—S&I BIIEA & Moldts===2 390
OR&= S &2 AEFH sX2aldl 2,000
202 044l 5,000 5,000 0
01 = LH o4 1l 5,000 5,000 0
OUgL=UE JIstHs =N 5,000
B2 BESES(XE) 8,500 9,500 A 1,000
= 8,500
308 XtXIEHHSOIA 8,500 9,500 A 1,000
= 8,500
01 AXHHILEES 8,500 9,500 A 1,000
OHSFUZ BESE8S(XNH) 8,500
= 8,500
WSO ESE8S(2Y) 3,557 2,610 947
= 3,557
202 Odl 3,557 2,610 947
= 3,557
01 = LH 4 Hi 3,557 2,610 947
oM B5EE(XA) 3,557
= 3,557
S X3 MY 402,108 402,108 0
= 402,108
403 UtXISHH S0l & 402,108 402,108 0
= 402,108
01 XM A=2E X 402,108 402,108 0
OS2 XA 402,108
= 402,108
HEZH(EY) MEHE =& 1,762,828 2,392,572 AB29,744
= 1,562,000
< 200,828
403 XIS E X201 & 1,762,828 2,392,572 AB29,744
= 1,562,000
< 200,828
01 X SHHX2E= 1,762,828 2,392,572 AB29,744
OWSHH(HY) MEHS =2 1,762,828
= 1,562,000
< 200,828
Es+=EH ALY 86,400 86,400 0
308 MHXIEHSOIH 86,400 86,400 0
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& MEEAES (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
01 HIXNHHNBHNEES 86,400 86,400 0
25 +=FHIAY 86,400
AZIMEIAZ0F Q1A 26,000 37,000 A 11,000
= 26,000
308 XXM SOIA 26,000 37,000 A 11,000
= 26,000
01 AXHHBLEES 26,000 37,000 211,000
OAtg Al AZ0F 215 3 HI 26,000
= 26,000
LetEGHE ZHl 547,588 339,556 208,032
= 431,912
< 115,676
308 MtXIEHMSOIH 547,588 339,556 208,032
2 431,912
< 115,676
01 HXNHHBHEELS 547,588 339,556 208,032
OogprHs LAl 547,588
= 431,912
< 115,676
L2USHESE & X 568,722 195,619 373,103
= 510,948
< 57,774
308 XX EHH SOl 568,722 195,619 373,103
= 510,948
S 57,774
01 HXNHHNBNEES 568,722 195,619 373,103
OxURHESE X 568,722
= 510,948
= 57,774
2URHEEE OISEEz=a 218,504 215,656 2,848
= 168,080
< 50,424
308 XXM SOIA 218,504 215,656 2,848
= 168,080
< 50,424
01 AXHHIYEES 218,504 215,656 2,848
OAURHEEE OlsHtsxza 29 218,504
= 168,080
= 50,424
AUSRTHESYE OlsA I 2L 173,800 86,900 86,900
= 154,000
< 19,800
403 UHXSHHSA=0l& 173,800 86,900 86,900
= 154,000
< 19,800
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A= S = oy
M MY dENEAsY
& MEEAES (cho &)
= _ - 4 &
SERE L RE-ERY=E1C PRy EVI-RE-EL 0f o e HI D52
01 HXSHH =R 173,800 86,900 86,900
OALSRMHASE olsAIIMI 2 173,800
= 154,000
< 19,800
s+232 26,000 26,000 0
2 20,000
= 6,000
308 XXM S0l ™ 26,000 26,000 0
= 20,000
= 6,000
01 UAXESHHBLEXS 26,000 26,000 0
O=Sdg 26,000
= 20,000
= 6,000
AEEWNE ESHE 568,750 561,959 6,791
= 437,500
S 131,250
308 Xt &M S 01 A 568,750 561,959 6,791
= 437,500
S 131,250
01 XM ZBEEES 568,750 561,959 6,791
OuttddolE GlZ2SNE 2 568,750
= 437,500
S 131,250
tEglEs 2LIHERA 16,000 18,394 N2,394
= 8,000
= 8,000
101 @124 8] 15,800 15,352 448
= 7,900
= 7,900
04 DIt 22 XS+ 15,800 15,352 448
OMEEMEILHERA 22| 15,800
= 7,900
& 7,900
201 2Bt2 | 200 3,042 N2,842
= 100
S 100
01 At2 22l b 200 3,042 N2,842
OB HMESZILIEHERE 298 S 200
= 100
= 100
ArEENE gHEH 2 20,020 20,020 0
= 15,400
= 4,620
403 TR M SA=01A 20,020 20,020 0




Z 0Y ro
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SR
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- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ofl At o4 %Eﬁ HR=2
= 15,400
& 4,620
01 XIS A=Z2E X 20,020 20,020 0
AEEHNE S HEH 2 20,020
= 15,400
= 4,620
URMMESE WEXIAH 66,773 64,051 2,722
308 MXISHMSOIA 66,773 64,051 2,722
01 HXHHIMNEXTZ 66,773 64,051 2,722
OAURMESY O EXARA 66,773
SCW Y& HIIZ2 =H HelAY 287,300 0 287,300
= 221,000
= 66,300
403 XX SHHS K20 & 287,300 0 287,300
= 221,000
o=t 66,300
01 XIS A=2E X 287,300 0 287,300
OZW Y& HIIE2 =H M2lAg 287,300
= 221,000
& 66,300
A S EX] SEIAF ASLEAKR 117,000 0 117,000
= 90,000
= 27,000
308 XAHXIGH SO0l & 117,000 0 117,000
= 90,000
= 27,000
01 AIXISHHENEXZ 117,000 0 117,000
OAt &K SEEZAN ML= AXE 117,000
= 90,000
o 27,000
AT ES 53,380,054 46,479,904 ,900, 150
= 38,692,970
J| 1,281,000
o= 13,406,084
Mg 24 4,977,673 5,997,701 ,020,028
= 3,683,249
= 1,294,424
403 XX SRS K 20| & 4,977,673 5,997,701 ,020,028
= 3,683,249
& 1,294,424
01 MXHHNE2BE =X 4,977,673 5,997,701 ;020,028
OZ3Hg =4 4,977,673
= 3,683,249
& 1,294,424
rEE RE3Y 4,978,388 4,785,110 193,278




A= g3z = PN AE=TI
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 4,978,388
206 M= Hl 4,978,388 4,785,110 193,278
= 4,978,388
01 M= 4l 4,978,388 4,785,110 193,278
Oxgs8 =+ 4,978,388
= 4,978,388
2USx=E 1,104,323 1,292,363 A 188,040
2 849,480
< 254,843
403 XIS E X201 & 1,104,323 1,292,363 A 188,040
2 849,480
< 254,843
01 X SHHA2E = 1,104,323 1,292,363 A 188,040
o2us =g 1,104,323
2 849,480
= 254,843
OASX MEXE 443,300 900,900 A 457,600
= 341,000
< 102,300
403 MHXSHHSA=0l& 443,300 900,900 A 457,600
2 341,000
< 102,300
01 X SHMA=LE L 443,300 900,900 A 457,600
OO0IMZR MZxE 443,300
2 341,000
< 102,300
NEEs =& 823,396 338,275 485,121
= 633,382
= 190,014
403 MtXISHH S =0l & 823,396 338,275 485,121
= 633,382
= 190,014
01 AXISHHA=2E = 823,396 338,275 485,121
OXdgEs 28 608,896
= 468,382
< 140,514
OUst=&t =& 214,500
= 165,000
< 49,500
QA BE S (E L) 5,981 5,981 0
= 5,300
= 681
403 UHXSHHSA=0l& 5,981 5,981 0
= 5,300
< 681
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SRS PEE CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HXSHMA2E X 5,981 5,981 0
ORSMAIIBIEE (ELIHE) 5,981
= 5,300
< 681
LDAIE S 33,150 156,000 A 122,850
= 25,500
< 7,650
403 MHXISHE X201 & 33,150 156,000 A 122,850
= 25,500
< 7,650
01 X SHHN2E = 33,150 156,000 A 122,850
O2ZAIE U3t 33,150
= 25,500
S 7,650
AEH0I2 SAEE HNEXH 6,795,000 6,795,000 0
= 5,850,000
< 945,000
403 A X EHHSH20IA 6,795,000 6,795,000 0
= 5,850,000
< 945,000
01 X ESHHMA=LE L 6,795,000 6,795,000 0
O&tEH0I2 M- HE XM 6,795,000
= 5,850,000
= 945,000
2=z s 7¢ 14,000 14,000 0
201 Let24E] 4,000 4,000 0
03 A2 Z I 4,000 4,000 0
ORYER, 222 S 7Y 4,000
206 = Hl 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
oE= ¢ 6,000
301 LEHZ 4,000 4,000 0
09 SALAHIX A S 4,000 4,000 0
OASUBA 2Y(TAIZ 7Y) 4,000
M =0t 12,061,056 12,150,837 A 89,781
= 9,277,735
< 2,783,321
403 UtXISHH S A= 0l& 12,061,056 12,150,837 A 89,781
= 9,277,735
= 2,783,321
01 AXISHHA=2E = 12,061,056 12,150,837 A 89,781
O&F#=It1)| 12,061,056
= 9,277,735




U
W
i
x
>
u
i
=
S

A= SFAE £ &g
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| < 2,783,321
It RI| K3 ALEH(XI&) 342,375 306,830 35,545
= 265,650
< 76,725
308 AHXIEHHSOIA 342,375 306,830 35,545
= 265,650
< 76,725
01 HXNHHNBHNEELS 342,375 306,830 35,545
O=It3I| X2 ZALEH(XIS) 342,375
= 265,650
< 76,725
OIAIX M2 = I3 0| 863,772 740,376 123,396
= 664,440
< 199,332
403 X SHHE A0l & 863,772 740,376 123,396
= 664,440
=) 199,332
01 AXISHHA=2E = 863,772 740,376 123,396
ODIMEZX M2 = Jt30| 863,772
= 664,440
< 199,332
MBI A AS ST 733,651 1,000,812 267,161
= 567,232
< 166,419
308 MXIEHSOIH 733,651 1,000,812 A 267,161
= 567,232
< 166,419
01 HXNHHBHELS 733,651 1,000,812 A 267,161
O&HBIOI2FA AES =& 733,651
= 567,232
< 166,419
2IPIIHES 922,906 1,041,660 A 118,754
= 718,304
S 204,602
308 XX EHSOIA 922,906 1,041,660 A 118,754
= 718,304
< 204,602
01 HIXNHHBMNEES 922,906 1,041,660 A 118,754
ORI HEE 922,906
= 718,304
= 204,602
=MIz Uss UsZd =4 1,281,000 1,202,000 79,000
J| 1,281,000
403 XSS AE201 & 1,281,000 1,202,000 79,000
J| 1,281,000




A= SIAE= SN MEsI
MY ANY MENESH
Col: METIR TN (St &)
= _ - 4 &
SERE L RE-ERY=E1C PRy EVI-RE-EL 0f o e HI D52
01 HXSHH =R 1,281,000 1,202,000 79,000
O=s4its Us=slsd =4 1,281,000
Jl 1,281,000
SHMHAZRO(S AT 22 ) 123,579 121,866 1,713
2 95,061
= 28,518
308 XXM SO0l & 123,579 121,866 1,713
2 95,061
= 28,518
01 UAXESHHBAEXS 123,579 121,866 1,713
OB MHIAER0(ZAI=XI22/&) 123,579
2 95,061
S 28,518
SHNBIAELO(SE=ITUO0IH) 54,923 54,162 761
= 42,249
< 12,674
308 Xt &M SO0IE 54,923 54,162 761
= 42,249
S 12,674
01 XM ZBEES 54,923 54,162 761
Ot AMHIAZR0I(E&= ACIUIOIH) 54,923
= 42,249
= 12,674
CABtEZE 24 6,500,000 650,000 5,850,000
= 5,000,000
LS 1,500,000
403 TtXI M SA=01A 6,500,000 650,000 5,850,000
= 5,000,000
& 1,500,000
01 TtXIEHH X2 2 & 6,500,000 650,000 5,850,000
OZAbtEZ= &4 6,500,000
= 5,000,000
S 1,500,000
OIMSR = =4 4,777,500 3,900,000 877,500
= 3,675,000
= 1,102,500
403 AR SHHMSTHZ0lH 4,777,500 3,900,000 877,500
= 3,675,000
S 1,102,500
01 X SHHA2E= 4,777,500 3,900,000 877,500
ODIMgR Xtes =4 4,777,500
= 3,675,000
& 1,102,500
DIMISIN X2 AHASHESI 24 13,000 19,500 26,500
=2 10,000




U
W

i
x
>

u
i
=
S

Al BHAME £ LHE
MY ANY MENESH
Col: METIR TN (St &)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 3,000
308 XX G SO0l & 13,000 19,500 A 6,500
= 10,000
= 3,000
01 AIKSHHENMNEXZ 13,000 19,500 6,500
ODINMSX J22 AL ASd2I 24 13,000
= 10,000
& 3,000
AOLEDtE & X 214,500 97,500 117,000
= 165,000
& 49,500
403 XX SRS K 20| & 214,500 97,500 117,000
= 165,000
& 49,500
01 MXHHXE2BE =X 214,500 97,500 117,000
OALBIEJIE=E EXAIY 214,500
= 165,000
o=t 49,500
TAlE XA (MEAIY) 1,673,000 1,530,000 143,000
403 XAIXISHHMS K201 A 1,673,000 1,530,000 143,000
01 XIS AES2E X 1,673,000 1,530,000 143,000
OFAN= =4 1,673,000
NegHe XL (HSALY) 1,819,000 2,893,000 A 1,074,000
403 XX SHHS K20 & 1,819,000 2,893,000 A 1,074,000
01 XIS AZ2E X 1,819,000 2,893,000 A 1,074,000
OXNgAEE =4 1,819,000
AEIAIY OIS & 3,000 3,000 0
201 et Y| 3,000 3,000 0
01 AP 2t 2] d| 3,000 3,000 0
OMEANY HIIRIH =¢ 3,000
Adse = K20 &G 29 300,781 397,031 N 96,250
308 XX SHHSOIA 300,781 397,031 N 96,250
01 MIXHHINMNEEXTZ 300,781 397,031 N 96,250
OHAs = XA &Y 24 300,781
LietZ2 2235 4 X 23,500 23,500 0
201 Bt 5,600 5,600 0
01 AF 22| H| 350 350 0
OuetZ2 223 BEZE(HA)S AARE = 350
03 A2 HH| 5,250 5,250 0
OouetZ 223 BEH(HMAl)E 5,250
303 A2 1,000 1,000 0




A2 BINEYR SN MESXD
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 243 1,000 1,000 0
OLictZ 228 SE(HAS A&3 1,000
403 XIS E X201 & 16,900 16,900 0
01 AXSHHMA2E = 16,900 16,900 0
Ottt 233 5d ¥ 4K 2l 16,900
fIstsdtxd 130,000 0 130,000
= 100,000
< 30,000
403 UHXSHHSA=0l& 130,000 0 130,000
= 100,000
< 30,000
01 HXSHMA=E X 130,000 0 130,000
ORzssdt =4 130,000
= 100,000
< 30,000
SANsZF22 2 124,800 0 124,800
= 96,000
< 28,800
308 XXM SOl A 124,800 0 124,800
= 96,000
= 28,800
01 IXNHHBNEES 124,800 0 124,800
OFANsE - d3ace 29 124,800
= 96,000
< 28,800
dauxsy = &4 1,625,000 0 1,625,000
= 1,250,000
< 375,000
403 MHXISHHE X201 H 1,625,000 0 1,625,000
= 1,250,000
< 375,000
01 X SHHX2E= 1,625,000 0 1,625,000
oMaaad & 24 1,625,000
= 1,250,000
< 375,000
22 ZH(HEAY) 97,500 0 97,500
403 UHXSHHSA=0l& 97,500 0 97,500
01 HXSHMA=LE X 97,500 0 97,500
O==& x4 97,500
Eery dels 24 (BX) 520,000 0 520,000
= 400,000
< 120,000
403 XSS A0l & 520,000 0 520,000
= 400,000




U
W

i
x
>

u
i
=
S

AT BHMY 2A A
M AN MENIEH
Col: METIR TN (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
== 120,000
01 AXISHHA=2E = 520,000 0 520,000
OXtders el =4 520,000
= 400,000
< 120,000
MEEE &X2te 24,593,881 12,273,676 12,320,205
= 14,738,170
s 4,378,000
< 5,477,711
THZ2 SHES 22 263,760 420,000 A 156,240
= 188,400
< 75,360
403 XIS S X201 & 263,760 420,000 A 156,240
= 188,400
< 75,360
01 AXSHMA2E = 263,760 420,000 A 156,240
O=8g eI 263,760
= 188,400
< 75,360
AMISXE SHER 22 39,000 44,200 A5,200
= 30,000
< 9,000
403 Mt SHHSA=0l& 39,000 44,200 A5,200
= 30,000
< 9,000
01 XM A=E X 39,000 44,200 A5,200
OAZI=XE STHEAEL 39,000
= 30,000
< 9,000
ZSMoIE HoZAH 29 19,188 19,188 0
= 14,760
< 4,428
308 XXM SO0 A 19,188 19,188 0
= 14,760
< 4,428
01 IXNHHBNEES 19,188 19,188 0
OSMoIE SHzAE 24 19,188
= 14,760
< 4,428
SHHE SH22 ABIER 29 14,950 9,100 5,850
2 11,500
< 3,450
308 XtXIEHHSOIA 14,950 9,100 5,850
= 11,500
< 3,450
01 HXNHHBHEELS 14,950 9,100 5,850




A2 BINEYR SN MESXD
MY ANY MENESH
Cl: MEHEE AtXlI2e] (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
OSTHHE S22 AMgFEA 29 14,950
2 11,500
< 3,450
SHHS 8222l £ SK&E - &5 2,300 900 1,400
2 1,150
= 1,150
202 od4dl 2,300 900 1,400
2 1,150
< 1,150
01 = LH o4 1l 2,300 900 1,400
OSMHE B2zl ANHIEH 29 2,300
2 1,150
< 1,150
A AIS EtEH EOt 14,285 14,285 0
s 10,000
< 4,285
201 Let24d] 13,000 13,000 0
s 9,100
< 3,900
01 At 22l 13,000 13,000 0
OLEAY EIE&8EI = 13,000
i 9.100
< 3,900
202 o4dl 1,285 1,285 0
s 900
= 385
01 = LH o4 1 1,285 1,285 0
O ALY BtEd 8t ol 1,285
s 900
< 385
S ANE(2HHYE) 4,992,000 5,182,047 A 190,047
s 4,368,000
= 624,000
403 XIS E X201 & 4,992,000 5,182,047 A 190,047
s 4,368,000
< 624,000
01 AXISHHA2E = 4,992,000 5,182,047 A 190,047
O AM(HHLE) 4,992,000
s 4,368,000
< 624,000
AHEH & 20l & et 346,986 342,299 4,687
= 239,301
< 107,685
308 XX EHSOIA 346,986 342,299 4,687
= 239,301
< 107,685




A2 BINEYR SN MESXD
MY ANY MENESH
Cl: MEHEE AtXlI2e] (SH9: &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HIXNHHNBHNEES 346,986 342,299 4,687
OLHALEH S Z ol & & 346,986
= 239,301
< 107,685
APAFEH H XY EXE AX 48,000 48,000 0
403 MtXISHHE X201 & 48,000 48,000 0
01 AXISHH A2 E= 48,000 48,000 0
OAHAMEH H 2+ XIS HXIE & X 48,000
SEISEHEINE &YX 2724 33,600 22,400 11,200
= 30,000
< 3,600
308 MtXIEHMSOIH 33,600 22,400 11,200
= 30,000
= 3,600
01 HXNHHBHELS 33,600 22,400 11,200
ONESBHAML TaYX 27 &Y 33,600
= 30,000
< 3,600
AT AL RANES(MSAY) 1,522,000 3,354,000 A 1,832,000
403 Ut SHHSA=0l& 1,522,000 3,354,000 A 1,832,000
01 HXSHMA2EE 1,522,000 3,354,000 A 1,832,000
OYZANE SFXE* 1,522,000
APALEH 2 A XIS AEZ A 140,000 0 140,000
401 Al HIZ 201 8] 140,000 0 140,000
01 A& HI 140,000 0 140,000
OALALE &M LA XS 2B A 140,000
AHALEH CHE & & A S Al 1,000 0 1,000
201 Let2d] 1,000 0 1,000
01 At 2teltl 1,000 0 1,000
OLHALEY THE &t s S A4 1,000
7.28.~8.11. S 2ol SPAL (A AH) 9,770,726 0 9,770,726
= 6,868,923
< 2,901,803
403 UHXSHHSA=0l& 9,770,726 0 9,770,726
= 6,868,923
< 2,901,803
01 HXHMA=E X 9,770,726 0 9,770,726
07.28.~8.11. Sl SFAIG (&S H) 9,770,726
= 6,868,923
= 2,901,803
7.28.~8.11. S 2ol SPAIL (o) 6,978,136 0 6,978,136
= 6,978,136




BN SN MESXD
AMEY MENESH
MENEY AXIBe

AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2

403 XX S S X201 A 6,978,136 0 6,978,136
= 6,978,136

01 HXHNMAHEE = 6,978,136 0 6,978,136
O7.28.~8.11. S LMol SPAIY (ot2) 6,978,136
= 6,978,136

HMEREL XS 234,000 0 234,000
= 234,000

308 AXISHAMSOIH 234,000 0 234,000
= 234,000

01 AIXHMBAEXZ 234,000 0 234,000
OUMAMEXINIATLE XS 234,000
= 234,000

MTHIHE StFUlol HJZAY(EX) 173,950 0 173,950
= 142,000
o= 31,950

403 XX SHH S K201 173,950 0 173,950
= 142,000
o= 31,950

01 XXM A 22X 173,950 0 173,950
OMMMAY SFLH H2AS 173,950
= 142,000
== 31,950

SA2IISN 24,376,280 22,318,184 2,058,096
2 936,750
hag 6,945,000
= 16,494,530

AAesae &4 1,500,000 1,650,000 A 150,000
hag 1,000,000
= 500,000

403 XX S S K201 A 1,500,000 1,650,000 A 150,000
hag 1,000,000
= 500,000

01 HXHNMAHEE = 1,500,000 1,650,000 A 150,000
Odsxe =4 1,500,000
rag 1,000,000
& 500,000

NHEYY =N HSAL 110,500 110,500 0
= 85,000
= 25,500

403 XX S M S K201 A 110,500 110,500 0]
= 85,000
= 25,500

01 MAXHHE2E = 110,500 110,500 0
OXNAs2de =l s 110,500
= 85,000




A2 BINEYR SN MESXD
MY ANY MENESH
S FYRHSA (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| == 25,500
ARz 2L (HEAY) 1,430,000 3,432,000 A 2,002,000
403 UHXSHHSA=0l& 1,430,000 3,432,000 A 2,002,000
01 X SHHM U422 L 1,430,000 3,432,000 A 2,002,000
Oxso9= =4 1,300,000
OxRos 22 130,000
AEMEAEZ RO (AE XK X T AL 179,400 179,400 0
= 138,000
= 41,400
308 MtXIEHSOIH 179,400 179,400 0
= 138,000
= 41,400
01 HXNHHBHELS 179,400 179,400 0
OUBNMEIAZ R0l (ME XX Z A 179,400
= 138,000
< 41,400
A M AZ R0l (Fol &01) 348,075 348,075 0
= 267,750
& 80,325
308 X EHSOIA 348,075 348,075 0
= 267,750
< 80,325
01 HXNHHNBMNEES 348,075 348,075 0
OKE MEIAZ 20l (=dH&0t) 348,075
= 267,750
< 80,325
MEBNUASR0(ROIEUR) 250,339 198,900 51,439
= 192,567
< 57,772
308 XXM SOIA 250,339 198,900 51,439
= 192,567
< 57,772
01 AXHHILEES 250,339 198,900 51,439
OUEMEIAZER0I (ROt LK) 250,339
= 192,567
& 57,772
AEMHEAERO(ZZHME XS AL) 137,313 135,405 1,908
= 105,623
< 31,690
308 MtXIEHSOIH 137,313 135,405 1,908
= 105,623
< 31,690
01 HXNHHNBHEELS 137,313 135,405 1,908
OUBMEIAZR0I (2 ME XA 137,313
= 105,623




A2 BINEYR SN MESXD
M AN MENIEH
oo EASIHSA CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| < 31,690
MENUIAS R0l (Z=ME22(00) 68,653 67,704 949
= 52,810
< 15,843
308 AHXIEHHSOIA 68,653 67,704 949
= 52,810
< 15,843
01 HXNHHNBHNEELS 68,653 67,704 949
OB MEIAC R0l (=ME 2elol) 68,653
= 52,810
< 15,843
MAZEMEHOIS 2H0HUAN 123,500 122,200 1,300
= 95,000
< 28,500
308 XXM SO0 A 123,500 122,200 1,300
= 95,000
= 28,500
01 IXNSHHBNEES 123,500 122,200 1,300
OL=MEIDIS 2H0LIN 123,500
= 95,000
< 28,500
=2 Tz (MEAY) 393,000 344,000 49,000
403 XIS E X201 & 393,000 344,000 49,000
01 X SHHXN2E= 393,000 344,000 49,000
OMEd SiZ Hl 393,000
NS S3t sdl2d D8 (HEesAY) 884,000 845,000 39,000
403 MHXSHHSA=0l& 884,000 845,000 39,000
01 HXSHMA=E X 884,000 845,000 39,000
OXY9Es sd2 =4 884,000
COE-E2EE2 =2 D4 (HSAY) 325,000 325,000 0
403 XM S =0l & 325,000 325,000 0
01 X SHMA=2E X 325,000 325,000 0
Okotg-gdEe =2 24 325,000
2EEZ XL (HEMY) 585,000 390,000 195,000
403 MHXISHE X201 & 585,000 390,000 195,000
01 X SHH A2 E= 585,000 390,000 195,000
odsxz =4 585,000
Hela Sl 2 - 2el(HEAMY) 88,000 85,000 3,000
308 MXIEHMSOIH 88,000 85,000 3,000
01 HXNHHBHELS 88,000 85,000 3,000
Oxeldt SclZ 29 - 22l 88,000




42 HPNYR M AE=TD
M AW AEKASA
S FYRHSA (B9 ®R)
SA - BB S(3H) - MEAY Ol &t o San HmEET
HUSHH 4 (M 1,300,000 520,000 780,000
403 UHXISHHSA=0l& 1,300,000 520,000 780,000
01 XM= E L 1,300,000 520,000 780,000
O = o4 1,300,000
SOEMEA 5 (HeAY 96,000 357,000 A 261,000
403 TtXIEH S Az 0l 96,000 357,000 A 261,000
01 XM A2E X 96,000 357,000 A 261,000
O&dE Rot=He 96,000
AL 23 A 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 QIZFHALAIH B = 50,000 50,000 0
O&ted 2 3HE A 50,000
MEXNR SEEY X 24 30,000 30,000 0
308 XX EHHSOIA 30,000 30,000 0
01 X HHIBLEXS 30,000 30,000 0
Ot FEE 30,000
Hgns X 20,000 20,000 0
307 gl2tol & 20,000 20,000 0
02 PIZHEHAHE L 20,000 20,000 0
O=daguns XA 20,000
s moid FAls X 15,000 15,000 0
307 glz2tol & 15,000 15,000 0
04 QIZFHALAIH E = 15,000 15,000 0
Os= =old & 15,000
et HE SdllZ =4 6,250,000 0 6,250,000
403 NtXI &M E A0l 6,250,000 0 6,250,000
01 XM A=2EE 6,250,000 0 6,250,000
oLt &35 = 6,250,000
el sed 22 2,500,000 0 2,500,000
s 1,250,000
< 1,250,000
403 A X EHHS X201 A 2,500,000 0 2,500,000
s 1,250,000
< 1,250,000
01 X EHHMA=LE L 2,500,000 0 2,500,000
OXEMRHAFT S 2,500,000
as 1,250,000
< 1,250,000
HUEZ=AE =4 (A 130,000 0 130,000




- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 130,000 0 130,000
01 X SHMA2E X 130,000 0 130,000
OdEdZ=ANAE =4 130,000
sy 22 7,042,500 11,793,000 A 4,750,500
as 4,695,000
< 2,347,500
403 MtXISHHE X201 & 7,042,500 11,793,000 A 4,750,500
as 4,695,000
< 2,347,500
01 AXISHHA=2E = 7,042,500 11,793,000 A 4,750,500
Oltgsgy 2 7,042,500
s 4,695,000
< 2,347,500
Cd S ZH(MEAY) 195,000 0 195,000
403 A X EHHS =0l A 195,000 0 195,000
01 X SHHX2E = 195,000 0 195,000
oLd &ai&d =4 195,000
=S4 g2z ZH(HSAY) 130,000 0 130,000
403 Mt SHHSA=0l& 130,000 0 130,000
01 XM A=LE L 130,000 0 130,000
O==s¢ g2 =4 130,000
BHStA AN =2 L (HEAMY) 130,000 0 130,000
403 X SHHS =0l & 130,000 0 130,000
01 XM A2E X 130,000 0 130,000
OUgtar AAL =2 =4 130,000
H&E stexls =2 ZH(MEAY) 65,000 0 65,000
403 MtXISH S X201 & 65,000 0 65,000
01 X SHHAN2E = 65,000 0 65,000
OM#d se&Xs =2 =4 65,000
HE2HZH (A=) 93,355 93,768 A413
= 16,129
< 77,226
el 2 HH| 32,261 29,474 2,787
= 16,129
< 16,132
QlHE2IHI(MRE 2L BRE) 32,261 29,474 2,787
= 16,129
< 16,132
101 @124l 32,261 29,474 2,787
= 16,129
< 16,132




4= sFael SN aE=STD
o WS AR (M=K D)
Erel: ez eyl

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2

03 RIAHL*ZZXHE 32,261 29,474 2,787

OteL2d 24 32,261

-JE2 1,987,6743 x12& 23,853

= 11,925

&< 11,928

—oIF O, BYRRAY

11,131 *150%*15A| 2t x12& 3,006

= 1,503

& 1,503

- XEE 11,1312 x8A| 2t*x15! 1,336

= 668

= 668

- Y& SOty 1,987,674 x60%*23| 2,386

= 1,193

& 1,193

- = &l 140,000& ~12& 1,680

2 840

=} 840
Jl2&tl 61,094 64,294 A 3,200
Jl2 &4l 61,094 61,094 0
201 LBt 9| 19,514 19,514 0
01 AP 22| H| 19,514 19,514 0

OJle4+2| 7,964

OJls2&| 11,550
202 04| 41,580 41,580 0
01 2L HI 41,580 41,580 0

OJI20 | 41,580
MPE=s (ARSI 149,000 0 149,000
WEAHA XK= 149,000 0 149,000
LHEAHH K= 149,000 0 149,000
705 l==cl 24 149,000 0 149,000
04 Al - EXYHED| S0 4=20| XFatst 149,000 0 149,000

O3 2ol 27 A (2020) 149,000




